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Shopping problems

Grade 3 Counting Money Worksheet

Using the prices below, answer the questions.

shirt = $8.00 hat = $10.00

tie = $7.00 belt = $10.00

pair of socks = $4.00 jacket = $31.00
sweater = $26.00 pair of pants = $24.00

1)

2)

3)

4)

5)

6)

/)

8)

?)

10)

What is the total cost of a pair of pants?

Steven wants to buy two belts and two pairs of pants. How
much will he have to pay?

If Allan wanted to buy two jackets and two pairs of socks,
how much money would he need?

What is the total cost of two sweaters, a hat, and two pairs
of pants?

If Michele wanted to buy two pairs of pants, two belts, a
jacket, and a hat, how much money would she need?

If Sandra wanted to buy a shirt, two hats, and a pair of
socks, how much money would she need?¢

If Sharon buys a pair of pants, a tie, two belts, and a pair of
socks, how much change will she get back from $70.002

If Jake buys two pairs of pants and a belt, and if he had
$65.00, how much money will he have left2

What is the total cost of a shirt, a sweater, and a pair of
pantse

If Ellen wanted to buy a sweater, how much money would
she need?¢
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Shopping problems

Grade 3 Counting Money Worksheet

Using the prices below, answer the questions.

shirt = $8.00 hat = $10.00

tie = $7.00 belt = $10.00

pair of socks = $4.00 jacket = $31.00

sweater = $26.00 pair of pants = $24.00

1) $24.00 Whatis the total cost of a pair of pants?

2) $68.00 Steven wants to buy two belts and two pairs of pants. How
much will he have to pay?

3) $70.00 If Allan wanted to buy two jackets and two pairs of socks,
how much money would he need?

4} $110.00 What is the total cost of two sweaters, a hat, and two pairs
of pants?

5) $109.00 If Michele wanted to buy two pairs of pants, two belts, a
jacket, and a hat, how much money would she need?

6) $32.00 If Sandra wanted to buy a shirt, two hats, and a pair of
socks, how much money would she need?¢

7) $15.00 If Sharon buys a pair of pants, a tie, two belts, and a pair of
socks, how much change will she get back from $70.002

8) $7.00 If Jake buys two pairs of pants and a belt, and if he had
$65.00, how much money will he have left2

?) $58.00 Whatis the total cost of a shirt, a sweater, and a pair of
pantse

10) $26.00 If Ellen wanted to buy a sweater, how much money would

she need?¢
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